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Note :  Candidates should attempt question Nos. 1 and 2 as compulsory and not more than
SJour of the remaining ones. Total six questions are to be attempted. Marks carried
by each question are indicated at its end. The parts of same question must be
answered together.

1.  (31) Ueh Hau%H & Hfaerds &a9dT & gy § Aigd i) 59/ giey 919 § wifug
faftr & fagra 1wt 9uE s9m A8 @G AIR 2014 SC 2277 % 37edd ar¢ §

3if¥reh &9 @ YT <hL &1 71 2 | 1 T S04 TEHA & P W HINT | 15
(§) YR ! qRATIYa AT | TR & ST a7 6l T8 iU | Teh T9R T 974 §
I T HIT | 15

(|) g 3ueaT i IRATYE HIfTU | S I9&T Ud JTeIERt 3Ua H 3= oyse I | 10

(a) The principle of law as to contractual competency of a minor established in Mohari
Bibee Vs. Dharmodas Ghose has been partially modified in a recent case Mathai
Mathai Vs. Mary Joseph AIR 2014 SC 2277. Do you agree with this ? Explain.

(b) Define charge. Explain the essential ingredients of a charge. Point out difference
between a charge and a mortgage.
(c) Define composite negligence. Distinguish it with contributory negligence.

2. (31) IU-WITaT & 3719 T G & 7 T8 FH 3N H9 3G g & 7 T IUMTHER F

HfUHR = T HIT | 15
(9) “Uh UMY HiIG 8 391 &1 2 | I8 "iae 8 Wad 3q & g g |7

39 YA I AT MR o e § T HIfT | 15
(|) "9 & foeg fFem = 8 7 39k W & rvare i ausms | 10
(a) What is sub-partnership ? How and when it arises ? Explain the rights of a

sub-partner.

(b) A bailment arises by contract. It cannot arise independent of contract.”
Explain this statement with reference to judicial decisions.
(c) What is rule against accumulation ? State exceptions of this rule.
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“srfirn i, srrebeon Fafn o fereame 2 17

$9 A hl S TG BT I601@ Hd T TR HIRAT | 10
faq faftr & arefla famg <61 wepfa =t \wemsu | fog foame srfufamm, 1955 3 ot
El ae Wi fra @ 2 10
fte faftr & srata afa & qrraea TR 1 Yoy srenf~ies e 7E 2 |
wyee Hif | 10

“Law of partnership is an extension of law of agency.”
Referring to statutory provisions, explain it.

Explain the nature of Marriage under Hindu law. How far it has been affected by
the Hindu Marriage Act, 1955 ?

Restitution of conjugal rights of husband is not an absolute right under Muslim
Law. Discuss.

HTITIHAT o GETER 8 319 1 T & ? NeIhal o JETEIN Td GETEH & qg9
FEER (Hed gE@EN) § 37t HIfT | 10
‘gfted’ Td ‘3 T # 3= T | 10
“Frgfa 3r=er ot uitariya Hifs | s dt geafh w1 st e s awar g 7 ® a0
TS ATH ! T o TR 3BT =T ForaT ST b 7 Tyse HIfAT | 10
What do you mean by easement of necessity ? Point out difference between
easement of necessity and quasi-easement.

Distinguish between ‘Coercion’ and ‘Undue influence’.

Define ‘transfer of property’. Which property can be transferred ? Can the right
of recovery of mesne profit be transferred ? Explain.

T A1 ‘& Ueh A1ed & & a9 @ | 30T g1 AT % SN # 9fd qerg # &
T 3Heh A1 T8 | T 1 Hide] et 8 3 @' 38 8T % T % o1 100 &€ A
1 TG AT & | B TA H! F 71T T8 A T I el 2 |

w1 @ HlAE B I B GehaT @ ¢ WIERE TR B Seo@ B g AR
hifsT | 10
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SHifse vd 5@ fova ox vt fafy e st fafy & s s i | 10
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‘A’, a singer enters into a contract with ‘B’ the manager of a theatre, to sing at
his theatre, two nights in every week during the next two months, and ‘B’
engages to pay her 100 rupees for each night’s performance. On the sixth night
‘A’ willfully absents herself from the theatre.

Can ‘B’ put an end to the contract ? Decide giving statutory provisions.

Muslim Women (Protection of Rights on Divorce) Act, 1986 protects the rights
of Muslim Women who have been divorced. Does this Act debars a Muslim
Women to seek maintenance under Section 125 of the Cr. P. C ? Explain
referring to decided cases.

Explain the law relating to the Joint tort-feasors. Whether a joint tort-feasor can
claim contribution from other joint tort-feasors ? Refer to decided cases and
distinguish between English law and Indian Law on this point.

S W e % qme | werfua fafy fagra @ v fifse @ adam afgea

T 3! FHISIAT Sl FHSATET | 10
1 U S safad & uet ° 3T foRan S aehan @ ¢ wifafue Susdi wa fAoffq
q1E1 1 Iooi@ hid FY TR HIFAT | 10
Tgerteh! i qieafya HfT | 8% T duesi &1 Ieot@ HIT | 10
Discuss the principle of law laid down in Donoghue Vs. Stevension and state the
applicability of this principle in present scenario. '

Can a transfer be made in favour of an unborn person ? Explain referring to
statutory provisions and decided cases.
Define ‘Coparcenary’. Discuss its notable ingredients.

“yrifiertt w1 Ay feafa & 3= T8 B 8 |7 39 HUA 1 I ied A
Hifor | Foffa aei =61 @ €S ) 10
e SHfad Fd 3geh! 3rael Gt % weat § dfva o fen T 8, 39 gufa WA g
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“Ueh o qcd Terd safed w1 38 Tmer A fifda & wom I 39 safd | o *
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39 “gwg # @ 8 wifta B9 (Reivm 8% o) & faga” & g  ww
Hifer | Froffa arql =1 garen 4T | 10
“Relation of partnership does not arise by status.” Explain it with examples.
Refer to decided cases.

How a person who has been deprived of possession of his immovable property,
can recover his possession by suit ? Explain.
“The adopted child shall not divest any person of any estate which vested in him
before the adoption. ”
Explain it in relation to “relation back theory”. Refer to decided cases.
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WﬁWWI%W(Mubara’m)ﬁ%@ﬁqﬁmé? 10
34 safaa w1 aula HIR S wfer & fafifés smaer & g s € | 10
@R Ug ST | 3= HIf | 10

Explain ‘Khula’. How does it differ from Mubara’at ?
Describe the persons who are entitled for specific performance of contract.
Distinguish between easement and licence.

T AR Wie H 39 WA HI Ieoi@ o1 6 AWE & @R W UES HE & qed AT
IGh SR o hIHd T shael 15% <TaT 1 ghel aFT | aret i = a1t @) Tt |

A3l ATfeTeh i 3TTagar i Fvffa hifs | 10
“deagw (Cy-press) &1 fagr< ua rfafemm= aos i faftmm= 78 571 gehar 8 vy
Ueh GF% bl AHITIAAT o BRI I &H & s=arar g | 10
39 U I ITE Higd T HifT |

frafaRaa 6 smen Sifsw 10

(i) &l TR, T8 ISmr i B |
(i) HRATE 1 ATFTd SR Afed i Gog o A1 THT & AT 2 |
A laundry receipt contained a condition that the customer would be entitled to

claim only 15% of the market price or value of the article in case of loss. The
plantiff’s new sari was lost.

Decide the liability of the laundry owner.

“The doctrine of Cy-press cannot validate an invalid Wakf but it saves Wakf
becoming void for uncertainty.” Explain this statement with example.

Explain the followings :
(1)  Ubi jus ibi remedium
(11)  Actio personalis non aritur actio.

AR =AE ¥ A9 F1 GEIAd @ 7 A8 foha witfeafaat & gfom @ar @ ¢ s

3us4l %1 ¢ §T T hIfT | 10
fag 3Tt < KR wd wrafa & Jafife @iere &1 eoi@ Hifve | Fefiadt g

faffs s wtaT @ 7 10
freeiaa T ot fag qow Y wrafey & =mea & 3yseei i e I | 10

What do you understand by constructive trust ? Under what circumstances such
trust is created ? Explain by referring to statutory provisions. .

Point out the natural guardian of Hindu minor in respect of his life and property.
Who appoints testamentary guardians. '
Explain the provisions as to devolution of property of a male Hindu dying
intestate.




